

**ON UNIFORM  $T(C,1)$  SUMMABILITY OF LEGENDRE SERIES**

By

**V.N. Tripathi and Sonia Pal**

Department of Mathematics

S.B. Postgraduate College, Baragaon, Varanasi, Uttar Pradesh, India

(Received : September 18, 2007)

**ABSTRACT**

The present paper deals with a theorem on uniform  $T(C,1)$  summability of Legendre series under very general condition. It generalizes a very recently known result due to Tripathi and Yadav (2007) on uniform  $(N,p,q)(C,1)$  summability of Legendre series under similar condition. It may be noted that the  $(N,p,q)$  summability is a particular case of the  $T$ -summability method.

**2000 Mathematics Subject Classification :** Primary 42B08; Secondary 42A24.

**Keywords :** Uniform  $T(C,1)$  summability, Legendre Series.

**1. Introduction.** An infinite series with  $\sum u_n(x)$  with the sequence  $\{S_n\}$  of its partial sums is said to be summable  $(C,1)$  to a fixed and finite sum  $S(x)$  at a point  $x$  in an interval  $E$ , if the sequence-to-sequence transformation

$$C_n^1(x) = \frac{1}{n} \sum_{m=1}^n S_m(x) \tag{1.1}$$

tends to  $S(x)$  as  $n \rightarrow \infty$ . [Titchmarsh (1959), p. 411].

Let  $T = [a_{n,k}]$  be an infinite triangular matrix with entries  $a_{n,k}$  over reals or complexes and

$$a_{n,k} = 0 \text{ for } k > n. \tag{1.2}$$

The sequence-to-sequence transformation

$$T_n(x) = \sum_{k=1}^n a_{n,k} C_k^1(x) \tag{1.3}$$

defines the  $n^{\text{th}}$   $T$ -mean of the sequence  $\{C_n^1(x)\}$  of the  $(C,1)$  means of the sequence  $\{S_n(x)\}$  of partial sums of the series  $\sum u_n(x)$ , or the  $n^{\text{th}}$   $T(C,1)$  mean of the series  $\sum u_n(x)$  at the point  $x$  in the interval  $E$ .

If there exists a function  $S(x)$  such that

$$T_n(x) - S(x) = O(1) \tag{1.4}$$

as  $n \rightarrow \infty$ , uniformly in  $E$ , the series  $\Sigma u_n(x)$  is said to be summable  $T(C,1)$  uniformly in  $E$  to the sum  $S(x)$ .

The Legendre series associated with a Lebesgue integrable function  $f(x)$  in the range  $(-1,1)$  is given by

$$f(x) \sim \sum_{n=0}^{\infty} a_n P_n(x) \tag{1.5}$$

where

$$a_n = \left( n + \frac{1}{2} \right) \int_{-1}^1 f(x) P_n(x) dx \tag{1.6}$$

and the  $n^{th}$  Legendre polynomial  $P_n(x)$  is defined by the generating function

$$\frac{1}{\sqrt{1-2xz+z^2}} = \sum_{n=0}^{\infty} P_n(x) z^n \tag{1.7}$$

We use the following notations

$$\psi(t) = \psi_{\theta}(t) = f\{\cos(\theta - t)\} - f(\cos \theta)$$

and

$$N_n(t) = \sum_{k=1}^n a_{n,k} \frac{\sin(k+1)t/2 \sin kt/2}{k \sin^2 t/2}$$

**2. Main Result.** In this section, our aim is to study uniform  $T(C,1)$  summability of Legendre series (1.5) under very general conditions by establishing the following :

**Theorem.** Let  $T=(a_{n,k})$  be an infinite regular triangular matrix with entries  $(a_{n,k})$  as a sequence of non-negative reals, non-decreasing with respect to  $k$  and

$$A_{n,m} = \sum_{k=1}^m a_{n,k} \tag{2.1}$$

Let  $\{p_n\}$  be a non-negative, monotonic non-increasing sequence of real coefficients such that its  $n^{th}$  partial sum  $P_n \rightarrow \infty$  as,  $n \rightarrow \infty$ . Let  $\lambda(t)$  and  $\mu(t)$  be two positive functions of  $t$  such that  $\lambda(t)$ ,  $\mu(t)$  and  $t\lambda(t)/\mu(t)$  increase monotonically with  $t$  and

$$\lambda(n)P_n = O[\mu(P_n)], \text{ as } n \rightarrow \infty \tag{2.2}$$

If

$$\int_0^t |\psi(u)| du = O\left[\frac{\lambda(1/t)p_\tau}{\mu(P_\tau)}\right], \text{ as } t \rightarrow 0 \quad (2.3)$$

and

$$\int_t^\eta \frac{|\psi(u)|}{u^2} A_{n,[1/u]} du = o(1), \quad (2.4)$$

as  $t \rightarrow 0$ , uniformly in a set  $E$  defined in the interval  $(-1,1)$ , where

$$\eta = \min[\text{arc cos } u - \text{arc cos}(u + \alpha)]$$

for  $u$  in  $(-1,1-\alpha)$ ,  $\alpha > 1$ ; then the Legendre series (1.5) is summable  $T(C,1)$  uniformly in  $E$  to the sum  $f(x)$ .

**3. Lemmas.** The following lemmas are needed in order to prove our main theorem:

**Lemma 1.** [Lal (2000)] : If  $(a_{n,k})$  is non-negative and non-decreasing with

$$k \leq n \text{ then for } 0 \leq a < b \leq \infty, 0 \leq t \leq \pi \text{ and any } n \left| \sum_{k=a}^b a_{n,n-k} e^{i(n-k)t} \right| = O(A_{n,\tau}).$$

**Lemma 2.** If we write

$$N_n(t) = \sum_{k=1}^n a_{n,k} \frac{\sin(k+1)t/2 \sin kt/2}{k \sin^2 kt/2}$$

then

$$N_n(t) = \begin{cases} O(n) & \text{for } 0 \leq t \leq 1/n \\ O\left(\frac{1 + A_{n,\tau}}{nt^2}\right) & \text{for } 1/n \leq t \leq \eta. \end{cases}$$

**Proof of Lemma 2.** For  $0 \leq t \leq 1/n$ ,

$$\begin{aligned} |N_n(t)| &\leq \sum_{k=1}^n |a_{n,k}| \frac{|\sin(k+1)t/2 \sin kt/2|}{k |\sin^2 t/2|} \\ &= O\left(\sum_{k=1}^n k |a_{n,k}|\right) \\ &= O\left[(n) \sum_{k=1}^n |a_{n,k}|\right] \end{aligned}$$

$= O(n)$ , as  $n \rightarrow \infty$ .

Using regularity conditions for  $T$ -method of summation for  $1/n \leq t \leq \eta$

$$\begin{aligned}
 |N_n(t)| &= \left| \sum_{k=1}^n a_{n,k} \frac{\sin(k+1)t/2 \sin kt/2}{k \sin^2 t/2} \right| \\
 &= \left| \sum_{k=1}^n a_{n,k} \frac{\{\cos t/2 - \cos(2k+1)t/2\}}{k \sin^2 t/2} \right| \\
 &\leq \left| \sum_{k=1}^n a_{n,k} \frac{\cos t/2}{k \sin^2 t/2} \right| + \left| \sum_{k=1}^n a_{n,k} \frac{\cos(2k+1)t/2}{k \sin^2 t/2} \right| \\
 &= O(1/nt^2) + O \left[ 1/nt^2 \left| R \sum_{k=1}^n a_{n,k} e^{i(2k+1)t/2} \right| \right] \\
 &= O \left( \frac{1}{nt^2} \right) + O \left( \frac{1}{nt^2} \right) \left| \operatorname{Re}^{i(t/2)} \left| R \sum_{k=1}^n a_{n,k} e^{ikt} \right| \right| \\
 &= O \left( \frac{1}{nt^2} \right) + O \left( \frac{1}{nt^2} \right) \left| R \sum_{k=1}^n a_{n,n-k} e^{i(n-k)t} \right| \\
 &= O \left( \frac{1}{nt^2} \right) + O \left( \frac{A_{n,\tau}}{nt^2} \right),
 \end{aligned}$$

as  $n \rightarrow \infty$ .

**4. Proof of the theorem.** Then  $n^{\text{th}}$  partial sum  $S_n(x)$  of the Legendre series (1.5) at any point  $x$  in  $(-1,1)$  is given after a well known computation by

$$\begin{aligned}
 (4.1) \quad S_n(x) - f(x) &= \frac{1}{\pi \sqrt{\sin \theta}} \int_0^n \frac{f\{\cos(\theta-t)\} - f(\cos \theta)}{\sin t/2} \sin(n+1)t \sqrt{\sin(\theta-t)} dt + o(1) \\
 &= O \left[ \int_0^n [f\{\cos(\theta-t)\} - f(\cos \theta)] \frac{\sin(n+1)t}{\sin t/2} dt \right] + o(1) \\
 &= O \left[ \int_0^n \psi(t) \left[ \frac{\sin(n+1)t}{\sin t/2} \right] \right] + o(1)
 \end{aligned}$$

where,

$$\eta = \min[\text{arc cos } u - \text{arc cos}(u + \alpha)]$$

for  $u$  in  $(-1, 1-\alpha)$ ,  $\alpha > 0$ .

Now, the  $(C, 1)$  mean  $\sigma_n(x)$  of the Legendre series (1.5) at  $x$  in  $(-1, 1)$  will be given by

$$\begin{aligned} \sigma_n(x) - f(x) &= \frac{1}{n} \sum_{m=0}^{n-1} \{S_m(x) - f(x)\} \\ &= \frac{1}{n} \int_0^\eta \frac{\psi(t)}{\sin t/2} \left\{ \sum_{m=0}^{n-1} \sin(m+1)t \right\} dt + O(1) \\ &= \frac{1}{n} \int_0^\eta \frac{\psi(t) \sin(n+1)t \cdot 2 \sin nt/2}{\sin^2 t/2} dt + O(1). \end{aligned} \quad (4.2)$$

Further, following (1.3), we have  $T(C, 1)$  mean  $T_n(x)$  of the sequence  $S_n(x)$  of partial sums of the series (1.5) given by

$$\begin{aligned} T_n(x) - f(x) &= \sum_{k=1}^n a_{n,k} \{\sigma_k(x) - f(x)\} \\ &= \int_0^\eta \psi(t) \left( \sum_{k=1}^n a_{n,k} \frac{\sin(k+1)t/2 \sin kt/2}{k \sin^2 t/2} \right) dt + O(1) \\ &= \int_0^\eta \psi(t) N_n dt + O(1) \quad (\text{say}) \end{aligned} \quad (4.3)$$

where

$$N_n(t) = \sum_{k=1}^n a_{n,k} \frac{\sin(k+1)t/2 \sin kt/2}{k \sin^2 t/2}.$$

Now, if we show that

$$T_n(x) - f(x) = o(1) \quad (4.4)$$

as  $n \rightarrow \infty$  uniformly in a set  $E$  then the Legendre series (1.5) will be summable  $T(C, 1)$  uniformly in  $E$  to the sum  $f(x)$ .

Let us write

$$\begin{aligned} I = T_n(x) - f(x) &= \int_0^\eta \psi(t) N_n(t) dt + O(1) \\ &= \int_0^{1/n} + \int_{1/n}^\eta + O(1) \end{aligned}$$

$$= I_1 + I_2 + O(1), \text{ say.} \quad (4.5)$$

Firstly, we consider  $I_1$ . Now,

$$\begin{aligned} |I_1| &\leq \int_0^{1/n} |\psi(t)| N_n(t) dt \\ &= O(n) \int_0^{1/n} |\psi(t)| dt, \text{ using lemma 2} \\ &= O(n) o \left[ \frac{\lambda(n) p_n}{k(P_n)} \right], \text{ using (2.3)} \\ &= o \left[ \frac{\lambda(n) P_n}{k(P_n)} \right], \text{ since } n p_n \leq P_n \text{ by the condition on } \{p_n\}. \\ &= o(1), \text{ using (2.2)} \end{aligned} \quad (4.6)$$

as  $n \rightarrow \infty$ , uniformly in  $E$ .

Next, we consider  $I_2$ . Here,

$$\begin{aligned} |I_2| &\leq \int_{1/n}^1 |\psi(t)| N_n(t) dt \\ &= O\left(\frac{1}{n}\right) \int_{1/n}^1 \frac{|\psi(t)|}{t^2} dt + O\left(\frac{1}{n}\right) \int_{1/n}^1 \frac{|\psi(t)|}{t^2} A_{n,\tau} dt \\ &= O(1/n). I_{2,1} + O(1/n). I_{2,2}, \text{ say.} \end{aligned} \quad (4.7)$$

Now,

$$\begin{aligned} I_{2,1} &= \left[ \frac{1}{t^2} o \left\{ \frac{\lambda(1/t) p_\tau}{k(P_\tau)} \right\} \right]_{1/n}^1 + \int_{1/n}^1 o \left\{ \frac{\lambda(1/t) p_\tau}{k(P_\tau)} \right\} \frac{1}{t^3} dt \\ &= O(n^2) o \left[ \frac{\lambda(n) p_n}{k(P_n)} \right] + O \left[ \frac{\lambda(n) p_n}{k(P_n)} \right] \int_{1/n}^1 t^{-3} dt \\ &= O \left[ \frac{n \lambda(n) P_n}{k(P_n)} \right] + O \left[ \frac{\lambda(n) p_n}{k(P_n)} \right] \left[ \frac{t^{-2}}{-2} \right]_{1/n}^1 \\ &= O(n) + O \left[ \frac{n^2 \lambda(n) P_n}{k(P_n)} \right] \\ &= O(n) + O(n) \\ &= O(n) \end{aligned}$$

so that

$$O(1/n).I_{2.1} = o(1), \text{ as } n \rightarrow \infty, \text{ uniformly in } E. \quad (4.8)$$

Lastly considering  $I_{2.2}$ , we have

$$\begin{aligned} I_{2.2} &= \int_{1/n}^1 \frac{|\psi(t)|}{t^2} A_{n,\tau} dt \\ &= o(1), \text{ as } n \rightarrow \infty, \end{aligned}$$

uniformly in  $E$ , on using (3.4), so that

$$\begin{aligned} O(1/n).I_{2.2} &= O(1/n)o(1) \\ &= o(1), \end{aligned} \quad (4.9)$$

as  $n \rightarrow \infty$ , uniformly in  $E$ .

Combining (4.7), (4.8) and (4.9), we get

$$I_2 = o(1), \quad (4.10)$$

as  $n \rightarrow \infty$ , uniformly in  $E$ .

Lastly, combining (4.5), (4.6) and (4.10), we obtain the required result in (4.4).

This completes the proof of our theorem.

### ACKNOWLEDGEMENT

The authors are very thankful to Professor L.M. Tripathi, Retired Prof. and Head, Department of Mathematics, B.H.U., Varanasi for his valuable suggestions during the preparation of the present paper.

### REFERENCES

- [1] S. Lal, On the degree of approximation of conjugate of a function belonging to weighted  $W(L^\beta, \xi(t))$  class by matrix summability means of conjugate series of a Fourier series, *Tamkang Journal of Mathematics*, **31** (4) (2000), 279-288.
- [2] E.C. Titchmarsh, *Theory of Functions*, Hind Edition, Oxford University Press (1959).
- [3] V.N. Tripathi and R.N. Yadav, On Uniform  $(N, p, q)$   $(C, 1)$  summability of Legendre series Vijnana Pariashad Anusandhan Patrika, **50** (3) July (2007), 243-252.